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The statistical equation of the regression line G Slaos¥) o33 A5LasY dsladd)
iesquatlon, where b is the regression coefficient, sl A NEN I

@ y=ax+b ® y=a +bx roit=5 @ cipt-2 @
©F=ay+b @y =a+by roit-5 O cipt-2 @

r19/0-1A Joll joaJl - A=alpol Aulhhl) A A i



YoNA/ YoV ol 5T platt - J 531 5 9t - (A 3uclody M1 AR ) & L 31 Aalad) 2 53U sl 5l ALY B3lgs loncial

@ A bag contains 6 blue balls and 4 red balls, a ball is| =1 S ¢ 8,5 S 1 S 50 A
randomly drawn, then it was returned back to the bag, | . .f VJ 51 g B8 c 6 yam
then another ball is drawn. 18,8 L o Al J)
What is the probability of :  Jlei! Le
1) The two drawn balls are red. S ool e 6,801 & 555 1)
i) The first ball is red and the second is blue. 50,5 A g o) e &ﬁ\ 5555 o (i)
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Find the mean and the standard deviation of the U5 (5)kinedt B i g dawgiell g
following probability distribution: R v (R (P2
Xr 0 2 3 4 ¢ ¥ Yool | oV

1 1 5 JEL-H I N R W IR I
f (%) - = = — wol v | | [
12 12
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(4) 1t P(A)=045,P(B)=06,
P(BIA)=0.8,
then, P(B'1A) =----.....

@) 0.69 ®) 0.6
© 036 @ 02

6',‘2(&_.)>JL ~,i°=(P)d u\g\bl
"A:<P|E))J
............... — (P )d ok

® RO
v () r®
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@ In an experiment of rolling a regular die once ,
the probability of appearing of a prime number
, given that the appearing number is greater than

Bty 8,0 Waie 5 o 2 &y 25 (2
sasdt ob e Jofsue ) gebs Jlanmt 06

1,1S cevunnn

; - ©

............. $olw ) wﬁ)jiﬁ\w\
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@ From the data of the following table:

X

30

25

5

10

15

20

y

40

45

25

30

35

40

Calculate Spearman’s rank correlation coefficient

between x and y and determine its type.
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@ If A'and B are two independent events ,
P(A) = 0.3, P(B) = 0.6,
then P(A‘ I B) — b T

ity o PO 13
RN (%’) J S (P)J
................ NIRRT

@) 0.7 ® 0.2 Y@ v
© 04 @ 03 R10) 1S
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If X is a discrete random variable whose range
={0, 1,2} and its probability distribution is
determined by the relation f (x) = a6—X , then the

value of a equals

@ 2 ®;
©1 @

N | =

ole Blaiite U5\ giie T pate ~pm OIS 13
GlYlan 555 a5 {¥ )V 0 )
“’”TP = (o) >3l
............................... =PoL
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@ If X is a continuous random variable with
probability density function :

ax

7 ; 0 < x< 4
f(x) = {
0 , otherweise

Find :
(1) the value ofa.
(i)P(1< X < 3)

BLES Mg Mo Bl gt e~ ST 13)

u&:dJJ\A."o-Y\
£> 00> e S “”TP
}=<u~>>

Paed (i) samyi

(v > ~ >1)J ()
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If Z is a standard normal random variable, such that: | § jlas Gads Gl s te 150 ~2 0I5 13

P(—1 <Z <K)=0.5328, LoA= (@ =~ 2V ) ) s
then K= -wpprese A0 e LAY e = o

@ 15 ® 05 @ v,0 (D
© 0.08 -0.5 O NS
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@If Yx=16, Yy=80, Y x*=178 , A= X V= X0 13
Y y?2=1608, XXy =484, andn=6 ATA=" e X WA =" WX
Answer only one from the following: 1= ¢ A= o 0 (

First  :find the linear correlation coefficient 1dadd (e d L o gllael |l i foe Co
between x and y . 2 ¢ o o gl B el gl Yl
Second : find the equation of the regression line . .)\:b;,}!\ Loz Dslas domsh 1530
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@ If X'is a normal random variable with mean # and o gie w u g | Jaiie ~o O 13
standard deviation o, (o U1 PHJESIPINT)

thenP (X< p—1.10) =00 | (oYW - U = ~»)Jok

@) 0.1357 (®) 0. 8643 W@ ey (1)
(©) 0.3643 @ 0.6357 S avey (3) e )
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@ Answer only one of the following questions:

(A) If X is a normal random variable with
mean 4 and standard deviation o = 8, and
P(X <40 )=0.1587, find:

(1) the value of ¥ .
(i) P( X>52).
(B) If the weights of students at a faculty follow a

normal distribution whose mean U =68 kg and
its standard deviation is 0 = 4 kg, find :

(1) the probability that the weight greater than 70 kg .
(i1) the percentage of the students whose weights
lie between 64 kg and 72 kg.

1 dadd (e L Gl gud | | Gye oo
Cando Bl s 1 aite e 07131 (1)
(A=0 g bl @) 5l ¢ U o gz
VAV = (80 = am) J O
- M A3 (i) sl
(oY < ) J (i)
SUS gas] b il 150 sl 3] (o)
(25 W= dage Gk 5 o5
,.\q.,i‘ﬁfucgjw\a\ﬂ\j
o ST 05 ol et (i)
.V?SV.
CES@JJ\QM & gkl A (i)

.V.?SVV‘V.?S'\iQﬁv@;UjT
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Table of areas under the standard normal distribution curve

Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09

0.0 0.0000 0.0040 0.0080 0.0120 0.0160 0.0199 0.0239 0.0279 0.0319 0.0359

0.1 0.0398 0.0438 0.0478 0.0517 0.0557 0.0596 0.0636 0.0675 0.0714 0.0753

0.2 0.0793 0.0832 0.0871 0.0910 0.0948 0.0987 0.1026 0.1064 0.1103 0.1141

0.3 0.1179 0.1217 0.1255 0.1293 0.1331 0.1368 0.1406 0.1443 0.1480 0.1517

0.4 0.1554 0.1591 0.1628 0.1664 0.1700 0.1736 0.1772 0.1808 0.1844 0.1879

0.5 0.1915 0.1950 0, 1985 0.2019 0.2054 0.2088 0.2123 0.2157 0.2160 0.2224

0.6 0.2259 0.2291 0.2324 0.2357 0.2389 0.2422 0.2454 0.2486 0.2517 0.2549

0.7 0.2580 0.2611 0.2642 0.2673 0.2704 0.2734 0.2764 0.2794 0.2823 0.2852

0.8 0.2881 0.2910 0.2939 0.2967 0.2995 0.3023 0.3051 0.3078 0.3106 0.3133

0.9 0.3159 0.3186 0.3212 0.3238 0.3264 0.3289 0.3315 0.3340 0.3365 0.3389

1.0 0.3413 0.3438 0.3461 0.3485 0.3508 0.3531 0.3554 0.3577 0.3599 0.3621

1.1 0.3643 0.3665 0.3686 0.3708 0.3729 0.3749 0.3770 0.3790 0.3815 0.3830

1.2 0.3849 0.3869 0.3888 0.3907 0.3925 0.3944 0.3962 0.3980 0.3997 0.4015

1.3 0.4032 0.4049 0.4066 0.4082 0.4099 0.4115 0.4131 0.4147 0.4162 0.4177

1.4 0.4192 0.4207 0.4222 0.4236 0.4251 0.4265 0.4279 0.4292 0.4306 0.4319

1.5 0.4332 0.4345 0.4357 0.4370 0.4382 0.4394 0.4406 0.4418 0.4429 0.4441

1.6 0.4452 0.4463 0.4474 0.4484 0.4495 0.4505 0.4515 0.4525 0.4535 0.4545

1.7 0.4554 0.4564 0.4573 0.4582 0.4591 0.4599 0.4608 0.4616 0.4625 0.4633

1.8 0.4641 0.4649 0.4656 0.4664 0.4671 0.4678 0.4686 0.4693 0.4699 0.4706

1.9 0.4713 0.4719 0.4726 0.4732 0.4738 0.4744 0.4750 0.4756 0.4761 0.4767

2.0 0.4772 0.4778 0.4783 0.4788 0.4793 0.4798 0.4803 0.4808 0.4812 0.4817

2.1 0.4821 0.4826 0.4830 0.4834 0.4838 0.4842 0.4846 0.4850 0.4854 0.4857

2.2 0.4861 0.4864 0.4868 0.4871 0.4875 0.4878 0.4881 0.4884 0.4887 0.4890

2.3 0.4893 0.4896 0.4898 0.4901 0.4904 0.4906 0.4909 0.4911 0.4913 0.4916

2.4 0.4918 0.4920 0.4922 0.4925 0.4927 0.4929 0.4931 0.4932 0.4934 0.4936

2.5 0.4938 0.4940 0.4941 0.4943 0.4945 0.4946 0.4948 0.4949 0.4951 0.4952

2.6 0.4953 0.4955 0.4956 0.4957 0.4959 0.4960 0.4961 0.4962 0.4963 0.4964

2N/ 0.4965 0.4966 0.4967 0.4968 0.4969 0.4970 0.4971 0.4972 0.4973 0.4974

2.8 0.4974 0.4975 0.4976 0.4977 0.4977 0.4978 0.4979 0.4979 0.4980 0.4981

289 0.4981 0.4982 0.4982 0.4983 0.4984 0.4984 0.4985 0.4985 0.4986 0.4986

3.0 0.4987 0.4987 0.4987 0.4988 0.4988 0.4989 0.4989 0.4989 0.4990 0.4990

3.1 0.4990 0.4991 0.4991 0.4991 0.4992 0.4992 0.4992 0.4992 0.4993 0.4993

3.2 0.4993 0.4993 0.4994 0.4994 0.4994 0.4994 0.4994 0.4995 0.4995 0.4995

3.3 0.4995 0.4995 0.4995 0.4996 0.4996 0.4996 0.4996 0.4996 0.4996 0.4997

3.4 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4998

3.5 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998

Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
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